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Time: 30 Minutes

| Paper Math 8 (T-1) |  Total Marks: 25 |

| 5th Month, 3rd Week, 6th Day |

Revision Test (3rd week) |

Q.1 Choose the correct option (1x6=6) -J /.,«l?'“'lgb.«b?wz’)
(i) If the objects and figures have exactly the same shapes and sizes then

they are called: uj’Z.llz{ s VAUQ u’f..gd//}f/;l..b?‘l"f%
(a) |similar objects gﬁtu’&g (b) [congruent object J:‘L?"
(¢) |transformation T (d) |rotation U%J
(ii) Every triangle is congruent to: -c"_an—gf (ads .
(a) |congruent J:'L?‘ (b) |similar u’f..g (c) |rotaion ui:;/ (d) |itself J638

(iii)

The sum of the measures of any two sides of a triangle is always
the measure of its third side.
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(a) |less then ‘af/ (b) |greater than <l
(c) |equal to & %[ (d) [less than or equal to LL/.'/.L(
(iv) The sum of interior angles of a triangle is: :‘gt'n/.’/.;rf (ug:')(.}uﬂﬁ&lf‘
(a) 60° (b) 90° (c) 180° (d) 360°
(v) In___ thesize and shape of the figure does not change.
Lnlbe_ Pur A5
(a) [transformation T (b) |rotation U%J
(c) [enlargement gY@ triangle &L
(vi) A point which tells, where to draw an enlargement is called:
e b b SIS B
(a) |rotation Lf::/ (b) [centre of rotation u.l{wé Lf::/

()

T

centre of enlargement u&wé & g (d) [transformation

(@

(i)

Answer the following questions. (2 x7=14) -] ;.,«’;?L.:«IJVJ“ 3l
Construct a parallelogram ABCD with diagonals 6cm and 8cm and the
angle between them is 70°.
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Construct a square PQRS, when its diagonal is 4cm more than its side.
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(iii) Construct a rohombus STUV, when mST = 6¢cm, and mSU = 9cm.

_»mSU = 9emsmST = 6em B¢ kS STUV

(iv) Construct the following triangle with the help of a ruler and a

- 'tzw‘j 56/):.)4.6/ %{/}’Lg

protractor.

(i) AABC, when mAB =5.8¢cm, mBC = 3.6cm and m/£B = 30°

(ii) APQR, when mPQ =4.8cm, mQR =4.8cm and mZQ = 120°

(v) Construct an isosceles triangle, The length of its is base is 8cm and the

two angle on the base are of measure 45° each.
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(vi) Construct a square ABCD, when a diagonal mAC = 4.5cm.

-mAC = 4.5em. 2l 8§ ABCD

Q.3. If AADC = AABC, then write the name of pairs of congruent angles and

congruent sides also write the case of congruency. Q)

-u:"gu:c«/ﬂd/f.l/.(f‘(}ffng&"/}’ufﬁrtégiﬁéuz;ligfwin AADC = AABC/I
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